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Math 099 - Summer 2010 - Test 3

Instructor: Dr. Francesco Strazzullo Name M‘j Y

Instructions. Only calculators are allowed on this examination. Point values of each problem are indicated.
Always use the appropriate wording and units of measure in your answers (when applicable).
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. (15pts) Gas price is $2.50 per gallon from Monday to Thursday. What is'the price of gas on Saturday
if during the weekend there is a 12% rise? ) . “ = TN
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3. (10pts) Use proportions to find .
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4. (15pts) Late one evening, a 6-foot person is standing 4 feet from a streetlight. The streetlight is 15
feet tall. How long is the person’s shadow?
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5. (15pts) Paolo earns $569 from working 54 total hours at two jobs. He earnes $11.25 per hour at the
first job and $9.50 per hour at the second job. How many hours does he work at cach job?
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6. (L5pts) Solve the system of linear equations
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7. (15pts) Lucia is allowed 140 calories for a snack. Apricots contain 20 calories each, and tangerines
contain 35 calories (each). Lucia wants no more than 2 tangerines each day. Let x = the number of
apricots, and y = the number of tangerines. Write a system of inequalities to describe the possible
numbers of each item Lucia can eat. Graph and show the solution set (according to the context).

( Label the corner point and provide at least one possibility for the snack.

7 N po meAT Ty J Taletioes Y, <2

A& | B 14a-R
Tfpaned| ¥ |35 |35 Y

AmieTe | X -20)(1—% )’4, itt@"‘b

TOWHS L

wad: | Y4 2

LIVE 2 ;

v 4 _ Y X+
7

o TA X 4> 1 4% SEEVeealEs
ATV o yz2
NQ/\_/ (&A% PQJ-JT-: Zz X {n;{\/, 140 "[)20)4"1",‘20 /%@
%20, 729 %
» 000X =20 = X =
O/ (b CHRIGE
TAAE W E ()‘%}D .

/W (}f‘D A/ T
2~

% APaeTs



8. (15pts) From our last test we have the following percents: 80, 72, 98, 65, 88, 90, 78, 77, 84. What are
the median and the average percents?
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9. (15pts) Label the corner point, and graph and show the solution set of the system of linear inequalities
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